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1 DarwinPlateau

Model Gauss (User)

2 if (((x-xl)/wl) <-1)
y=A*(1-(1-1/(((x-x)/w)*2) )*0,5)) +y0 + A
_g*exp(-0.5*((x-xc_g)/w_g)"2);

}
else
{
if (((X-xl-w)/wr) > 1)
y=A*(1- (1 - 2/((x-xI-w)/wr)*2) )(0,5)) + yO +
A_g*exp(-0.5*((x-xc_g)/w_g)"2);
}
else
{ A+y0+A 0.5 / A2
=A+ + * -0.5%((x- ;
Equation = A*Y0+ A grerpt0 5 (bexo_g)w o2
}
3 | Reduced 30249.97635
Chi-Sqgr

4| Adj. R-Square 0.5911

5 Value Standard Error

6 A 292.18082 19.45546

7 y0 242.2586 11.70465

8 x| -861.39904 6.48834

9 w 103.36234 8.02834

10 | t-ellabt wi 38.52876 9.73148
11 wr 2.05457 4.41379
12 Ag 718.2983 59.30855
13 XC_g -974.01111 1.5076
14 w_g 20.67012 2.06861




